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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6

E&PH (7.34) R

FfiE) | EBIATHC (FD) | JEBRE (BFH/HK) | XS EFE
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2it| 295.0 (5:%) 100.0 3 HKEC: 2500, PH: 6.3




XX6_0, Day=139 (2025-03-14)
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XX6
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XX6_0, Day=137.0 (2025-03-12)
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XX6_0, Day=136.0 (2025-03-11)

20 e ——————— e ———— e —— e ——mmm—mm——mmm———mmmmmmm—mmm——mmm———m—mmmm——mmm == ]
P,VQZERV,ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

N
o
o

FRV (ml d-1)

15
16769

133
101 Fo2 106

80
. v
FRV

T
—_
o
o

oo
(e} e)
~h
=T
o

[=2]
o
1
| B
I
| B

FRV (ml plant-1)
S
S
1

N
o
I

o

e
©
1

Warning: lcol ['WC', [WC2' ] missing

TargetEC=2000. 0, TargetSetEC=2134.8

Warning: lcol ['ECB’, 'ECC’'] missing

TargetPH=6. 0, TargetSetPH=6. 7

Warning: lcol ['PHB',| "PHC'] missing
0g - 300

I
= Bylnit @D139 04:43::ET:146 Fg=200.0 Ro=46.0 t =
c 1 c
?“1 ] - 200 =
L ! 2
E . =
\ p—
E : - 100
= ' 3
89 :I=. a___& ____& 000
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 ] 14 [ 15 |16 [ 17 [ 18 [ 19 [ 20 | 21 | 22 [ 23
= % | & wm|w| g | s BB | s ms[B|BH|[BE[® s | B | BB BB B]| B =
S 60 - 1 c
- ByEt @D136 17:41: ET=132 Fg=163.0 Ro=nan : - 200 =
~ ~
\ p—
E - 100
— 20 1 %
(NN [&]
88 - 800
~ o~
< 60 - ] £
= ByWoFv @D139 04:43::ET=80 Fg=120.0 Ro=19.0 -200-3
~ ~
£ 40- : E
E 1 F © S —@ 1 1 L 100 —
~20- : z
w p—e—&—©— I o
1.0 P oo o | I i 0
: 0 1 2 4 5 6 7 8 9 [ 10 ] 11 [ 12 [ 13 [ 14 [ 15 |16 [ 17 [ 18 [ 19 | 20 | 21 | 22 [ 23
0slB=| B | W | | A5 | RE | Rs | A& | Bs | RE | Bs | Rs | PA | PA | PA | s | B | BB BB B]| B
0.6
0.4
0.2
0.0
600 1 _ 4
[ ) | _obs
400 —@— PPFD_obs

200 -

40 RH
[ ] RH_obs

(] RHo_obs

20 -




hour

100

30
:25 80
20
- 60
:35
:40
-40
:40
:35 20
:35
1 1 1 1 1 1 1 _O
B K & B K% % S
é§¥ & %ﬁ» & & 4? %;5 %gr



XX6

AyiE) | EBIATK (FD) | EBE (BEHA/K) | KR EFRE

07:30 398 20.0 i 1312007 :30 (KRFERLEE)
08:25 398 20.0 i RR1%@08:25 (FKFHIERLEE)
09:20 398 20.0 i FR1%@09:20 (FRFHIERLEE)
10:35 398 20.0 i Bi%@10:35 (KRRAERE)
11:40 398 20.0 i Riget11:40 (kAFERERE)
12:40 398 20.0 i Ri%@12:40 (KPAIERSE)
13:35 398 20.0 i BRi&%@13:35 (KRAIERSE)
14:35 398 20.0 i BiRe14:35 (KRF1EREE)
2it]3184.0 (8%%) 160. 0 329353 %EC: 1455, 3000000000002, PH: 6.9

EORGEBR R CRIRIRBIEIN (172.0 vs 59.0))

ZRIA L PRIEBES8. 0 ml.

FHERECE (1323.0 vs 3458.0) 145




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

XX6_0, Day=135.0 (2025-03-10)

. e e e S - 300
F,VQgERV,ET - VI, V0, FVI, FVO, FRV, adjFRV, ET 240 22251
159 L 200
0 148
103 102 107
L 100
5— I |
-0
150 4 VI u
FRV
100
| L B

50 -

i NI R O N SO

n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ['WC', 'WC2'] missing
0.0
0.8 4 TargetEC=2000. 0, TargetSetEC=1455. 300000 t
' 0000002
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 0, TargetSetPH=6.9 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
QOO_ 1
Bylnit @D139 04:43::ET:123 Fg=180.0 Ro=48.0 t
150 1
1
1
100 A | e © o e o
! —o—o—6—9o—9
1
50 i
1
p S —@ N
200 S i AN N m
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
AR AR A A A A A A A A A A
150 ]
ByEt @D135 17:42: ET=123 EFg=251. 0 Ro=nan © @ © i. © <] o & ©
1
100 - ,
50
200 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
25| B B 5 | B E | B | B | B ]| B B 5 5 5 B 5 5 5 B 5 5 5 B 5
150 ]
ByWoFv @D139 04:43::ET=107 Fg=160.0 Ro=42.0
100 - |
| eos = e e
I
1
18 19 20 21 22 23
ES ES E3 E3 ES ES
B G B B B G
0.6 -
0.4 1
0.2 A
0.0
800 ¢ —_ 4
[ ] | _obs
600 - —@— PPFD obs

400 ~

200 ~

40 ~

RH
[ ] RH_obs
(] RHo_obs

2.54

e et

T
w
o
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

o

T
w
o
o

N
S
3
cumET (ml/plant)

T
—_
o
o

o

T
w
o
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

FRV (ml d-1)



